
AMAT 327(Z): Elementary Abstract Algebra, Spring 2012 Quiz # 6, February 14

Name: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

Consider the elements f =

(
1 2 3 4 5 6

2 4 3 5 6 1

)
and g =

(
1 2 3 4 5 6

2 3 1 4 6 5

)
of S6 .

1] Compute f−1.

2] Compute f−1 ◦ g ◦ f .

3] What is the problem (if any) with the following answer to question 2? Explain!

No explicit computations are needed! We have f−1 ◦ g ◦ f = g ,

because f−1 ◦ g ◦ f = f−1 ◦ (g ◦ f) = f−1 ◦ (f ◦ g) = (f−1 ◦ f) ◦ g = id ◦ g = g .
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